COOK COUNTY BUREAU OF HUMAN RESOURCES REPORT OF DUAL EMPLOYMENT

THE GIVING OF FALSE INFORMATION ON THIS FORM WILL BE CAUSE FOR DISMISSAL

is form must be executed by:

- 1. Persons entering County service,
- 2. Any person who after entering the service as an employee becomes engaged in any gainful employment;
- 3. Any employee engaged in any outside employment, whose work schedule in the County service or work schedule in any gainful

4. Ally employee whose di	ial employment has been disc	continued ISan	Instructions or	Reverse Sid	le).	
Name of Employee_		4.	/ So	cial Security	No.	
Home Address		Fitle of Position			Dept.	
Where Assigned					52.01	
In spaces below indicate starting a	nd finishing time for each da	CATION OF WOR	K ASSIGNMENT	1		
М,	T. W.	y and total nour	s per week of (F.	County job.	-	
HOURS OF FROM 34	27 6.30	A 6:30A	T	<u>. </u>	S.	TOTAL HRS.
EMPL TO 5A	57 b:30	P 5:10P	5:04			147
DO YOU HAVE EMPLOYMENT	OTHER THAN COOK COUN	ITIO		٦		70
If engaged in a business, profession	i, trade or occupation in addi	tion to your Cor	ok County occ	J Voation, indi	cate:	
Kind of business, profession or trad						
Name of outside				itle		ALCOHOLD BY
Employer or Firm.						
acation of assignment						
In spaces below indicate starting an	d finishing time for each day	and total hours	per week of yo	our outside e	mployment	
HOURS OF FROM O	7		F	S.	S.	TOTAL HRS.
	6:30A					
EMPL TO 3P	1:308					12
				M. Alimiration		10
Please describe duties of your outs	ide employment,					
						7
						_
horaby such a visa						
hereby authorize my outside E Resources, any additional informa	:mployer, named above, to	o furnish my D	epartment H	ead or Coc	k County C	hief of Human
	and the manning to my emph	byrnent.				
IMMEDIA TE SUPE	RVIS OR		7 5166	ATURE OF F		
DED.			2 40 /	D LUKE OF E	MB) AVEC	
DEPARTMENT	HEAD		, m	DXTE	10	
HE RULES OF THE BOARD OF CO.	INST	RUCTIONS				

THE RULES OF THE BOARD OF COOK COUNTY COMMISSIONERS PROVIDE THAT NO EMPLOYEE SHALL ENGAGE IN A BUSINESS, PRO1. IMPAIR HIS EFFICIENCY;
2. SERIOUSLY INTERFERE WITH SUCH EMPLOYEE'S ABILITY TO SATISFACTORILY PERFORM HIS DUTIES;
3. IMPAIR OR REFLECT UPON THE REPUTATION OF COOK COUNTY.

A CONDITION PRECEDENT TO ANY EMPLOYEE OF COOK COUNTY ENGAGING IN BUSINESS, PROFESSION, TRADE OR OCCUPATION ILE ACTUALLY EMPLOYED BY COOK COUNTY, EVERY SUCH EMPLOYEE SHALL REPORT FOR REVIEW, THE NATURE AND EXTENT OF SUCH BUSINESS, PROFESSION, TRADE OR OCCUPATION TO HIS DEPARTMENT HEAD UPON HIS FORM,

THIS REPORT SHALL BE REVIEWED BY THE IMMEDIATE SUPERVISOR, AND THE DEPARTMENT HEAD WHO SHALL RETAIN ONE IN COPY

Run 03/07/13 at 10:55

DATES: 11/18/12 - 12/01/12 EMPLOYEES: SOURCE: History

BADGE NUMBER		WORK DATE	TI IN	ME OUT	TOT HRS.	OT HRS.	DT HRS.		WORK DEPT	JOB	מ/ע	QTY	RATE	AMOUNT DEL DOLLARS CD *
Diolog														
		11/18/12	0	0	0.00	0.00	0.00	A		814	1	0	0.000	0.00
		11/19/12	0	0	8.00	0.00	0.00	VA				0	0.000	0.00
		11/20/12	0	0	8.00	0.00	0.00	VA				0	0.000	0.00
		11/21/12	735	631	8.00	0.00	0.00					ō	0.000	0.00
		11/22/12	0	0	8.00	0.00	0.00	HL			i	ō	0.000	0.00
		11/23/12	0	0	0.00	0.00	0.00	XD				0	0.000	0.00
		11/24/12	0	0	0,00	0.00	0.00	A				Ö	0.000	0.00
		11/25/12	0	0	0.00	0.00	0.00	A				Ö	0.000	
	3000	11/26/12	0	0	8.00	0.00	0.00	VA				0	0.000	0.00
		11/27/12	0	0	8.00	0.00	0.00	VA				0		0.00
		11/28/12	ō	0	8.00	0.00	0.00	HB				0	0.000	0.00
		11/29/12	o	Õ	8.00	0.00	0.00	HB				0	0.000	0.00
		11/30/12	0	0	8.00	0.00		NOW (100)				0	0.000	0.00
		12/01/12	0	-			0.00	HB				0	0.000	0.00
1		14/01/12	U	0	0.00	0.00	0.00	A	-		I.	0	0.000	0.00

** END OF REPORT **

..... Time & Pay Inquiry

Thru: 1,2/1,6/12

Work Date	Pay Type	Hours Worked	Rate	Gross Pay
11/26/12	300	8.00	203.246	1,625.97
11/27/12	300	8.00	203.246	1,625.97
11/28/12	1	8.00	203,246	1,625.97
11/29/12	1	8.00	203.246	1,625.97
11/30/12	1	8.00	203.246	1,625.97
12/01/12	628	8.00	203.246	(0000 •) positional (00 • 64) (000.
12/04/12	1	8.00	203.246	1,625.97
12/05/12	1	8.00	203.246	1,625.97
12/06/12	305	8.00	203.246	1,625.97
12/07/12	1	8.00	203.246	1,625.97
12/08/12	1	8.00	203,246	1,625.97
12/09/12	1	8.00	203.246	1,625.97

F4=Detail F13=Toggle Display F19/F20=Previous/Next Employee F24=More

DATES: 12/02/12 - 12/15/12 EMPLOYEES SOURCE: History

** END OF REPORT **

BADGE HOME NUMBER DEPT	WORK DATE	TI IN	ME OUT	TOT HRS.	OT HRS.	DT HRS.		WORK DEPT	JOB	N/U	QTY	RATE	AMOUNT DOLLARS CD	DEL *
	12/02/12 12/03/12 12/04/12 12/05/12 12/05/12 12/07/12 12/08/12 12/09/12 12/10/12 12/11/12 12/11/12 12/13/12	0 0 529 722 0 717 741 857 541 0 718 534	0 0 0 0 0 0 0 741 0 0	0.00 0.00 8.00 8.00 8.00 8.00 8.00 8.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	SK				0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	×
	12/14/12 12/15/12	750	0	0.00	0.00	0.00	Α				0	0.000	0.00	

.... Time & Pay Inquiry

Employee No. . . .

Thru: <u>12/16/12</u>

Work Date 12/10/12 12/12/12 12/13/12 12/15/12 12/15/12	Pay Type 1 1 1 1	Hours Worked 8.00 8.00 8.00 8.00	Rate 203.246 203.246 203.246 203.246 203.246	Gross Pay 1,625.97 1,625.97 1,625.97 1,625.97
TOTAL		128.00		24,389.53

F4=Detail F13=Toggle Display F19/F20=Previous/Next Employee F24=More